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Chapter 1.
6. (a)z?—5x+10. (c)2z+1.
14. (c) 3z + by =12
16. (a) (—1,0) and (1,0). (b) (—=5,25) and (3,9).
38. (a) Q[p(t)] = v23.4+0.12.  (b) v/24.3 ~ 4.93 units.
42. (a) C = 400t 4+ 3200.  (b) 5200.
52. C = 4(3000 — ) + 5v/9002 + 22.
54. $8000.
58. (a) A=6 (b) A=2
Chapter 2.
18. (b) —%.
20. (a) 87.5%.
22. (a) 12023 — 24z + 10 + %
26. (a) 1202 — 24z + 10 + %
(c) 24(32?% + 2)%(2122 + 2)
1 —10(2z + 3y)*
28 (b) 15(255 +—?ty)%‘f)
30. (b) —28.
36.
7
3 <t < 6 and decelerates when 1 <t < 3
(b) 49.
Chapter 3.

(10th edition)

(c) 4 years from now.

(a) The velocity is v(t) = 6(t> — 7t + 10). The object advances when 1 <t <2 and 5 <t < 6
and retreats when 2 < t < 5. The acceleration is a(t) = 6(2¢ — 7). The object accelerates when

28.  f(2) = 10 is the absolute minimum and there is no absolute maximum.



